THREBRLIRES

[ Frk 24 £6 A 30 B 3# ]

1TEX 1T B X 4 B LS gt o ATEX 17T B X 4 B LS it A [ TEIX 17T B X 4 5 LS it A
1A 79 93 172 50 201 | &7 EREp 375 412 787 298 36 |BHABEN 646 655 1,301 354
(0] 1) ( 1) (—TH) 2) NniC 3 (STH) (0] 1) 1)
pALUN = 377 388 765 300 202| &7 R D 669 715 1,384 570 N7 ABEE— 45 11 86 28
(0| C 5 C b5 (ZTH) 3) NniC 4 (ETH) (. olC 0 0)
3| HTH 76 90 166 52 203 |'& /7 AR 572 576 1,148 441 318 |BHABEEIN 0 0 0 0
(ol 0 C o0 (ZTH) 1) 2 3 O\TH) (. olC 0 0)
4B 344 429 773 334 204 |8 /7 AR 491 512 1,003 396 321 | HEE— 22 17 39 11
(ol 0 C o0 (MTH) 2) 2 4 (—T H1~4%Hh) (. 0olC 0 0)
5— /B4 68 62 130 38 211 |k 417 417 834 329 322| X HE— 223 232 455 143
(ol C 0 C o0 (—TH) 0) 1) ( 1) (7T H43) C 21C 2 4)
6| —/F4 86 85 171 51 212 |kt 226 254 480 182 323 | HE— 694 678 1,372 404
(0]« 1) ] ( 1) (ZTH) 0) 0 C 0 (=T H43) C 221C 4 6)
7= B4 159 159 318 107 213 |kt 277 248 525 182 324 | HEE 394 392 786 279
(ol 0 C o0 (=TH) 0) 0 C 0 (WTH1~17&#) | (0| ( 0 0)
8|EFH 157 153 310 102 214 |k 365 379 744 301 325 | HEE — 682 704 1,386 412
(0] 1) ] ( 1) (MTH) 0) 0 C 0 (H T H43) (. olC 2 2)
9| gt H 51 11 92 27 221 | BT DOY—TH 585 610 1,195 428 326 | HE— 346 385 731 208
(o i 1 0) 0 C 0 OSTH1I~17&#) (0 (. 2) 2)
105 64 61 125 37 222 | BHITDOY T H 700 695 1,395 501 327 | HEE = 883 914 1,797 520
(ol 0 C o0 1) 2 3 (ET H4) (0] 1) 1)
11| K& 43 46 89 23 223|BHITOY=TH 840 828 1,668 614 328 |k M = 236 248 484 159
(. olC 0 C 0 0) 1) | ( 1) O\T H 43) (. olC 0 0)
12|45 5% 105 90 195 53 231|HEE—TH 624 650 1,274 445 329|pk M = 4 4 8 5
(0] 1) ( 1) 0) 0| C 0 (LT H 48%) (. olC 0 0)
13 K& 45 49 94 23 232|HEE-TH 796 843 1,639 574 331 | A HEE 1 11 12 12
(ol 0 C o0 2) 4) | (. 6) (— T H5~8%Hh) (. 0olC 0 0)
14 A FH 86 87 173 46 233|HER=TH 367 383 750 260 334 | HEE = 432 419 851 313
(o 0o/C 0 0) NniIC 1 (UTH18~28%H) ( 3) | (3 6)
15/8A 98 78 176 49 241 | BTG — 424 437 861 263 336 | HEE — 459 480 939 269
( 0) | ( 0) | ( 0) 0) 2) | ( 2) (NTH18~35%F#) | ( 0) | ( 0) 0)
16| P& 1% 106 121 227 63 242 |1 T54E — 252 250 502 146 401| ERAA—TH 656 688 1,344 414
(0] 1) ( 1) 3) 2 (5 ( 4. C 3 7
20 [TE K fh 276 280 556 189 301 [ RAGEHE— 440 484 924 352 402 ERAARTTH 0 0 0 0
(ol 0 C o0 (—TH) 0) 0 C 0 (0l C 0 0)
101 | K74 333 362 695 253 302 RIAEEH— 417 453 870 346 411\ KiGAK—TH 709 724 1433 408
(—TH) ( 1) ( NniC 2 (=T H) 1) 2 3 ( 51 C 2 7
102 | K74 272 284 556 204 303 AEE =T 540 599 1,139 442 412 KGR —TH 345 361 706 217
(ZTH) (ol 0 C o0 0) 2 2 ( 1) | ( 1) 2)
111 O&hE—TH 822 839 1,661 617 304 A GE Y =— 1Y 156 189 345 163
( 5] C 3. C 8 0) 2 (2
M2/ 0&0ETH 471 449 920 367 M |\BFHABEE— 576 625 1,201 409
(0] 1)1 ( 1) (—TH) 0) 1) ( 1)
12117 —2 b 261 245 506 159 312\BHABE 484 523 1,007 320
(ol 0 C o0 (ZTH) 0) 4) (4
140|LHDR 213 202 415 155 NI FAEE= 662 686 1,348 407
(—TH) ( 1) ( NI 2 (=TH) 1) 2 3
141 | HOR 49 59 108 11 M4 BHABRE= 211 207 418 146
(—TH) (ol C 0 C o0 (T H) 3) 0 C 3
142\ L H0R 338 354 692 258 5 HAREL 1,076 1,025 2,101 665
(ZTH) (. 2/C 6, 8 (WTH,LTH) 1) 0) | ( 1)
() PIANE AR SE S Th ik [ &5 ] B 24298 A % 25059 A 5t 49357 A 16,934 tHE
KIZV—2 e 1F, O E— T BATBIXIZE E008, EBNTEFL TVET, ( 46) ( 76) ( 122)
SEVEARAM 1, BT FATEXAZE D08, EBNZEFL TWETS, [ ATA R ) B 24281 A % 25032 A 5 49313 A 16,905 tHE
KA EBLET HIOITEXA T ATEHE SIS E TYHOM A GE — MRl TVET, [ &) 2 17 A Z 21 A 44 A 29 tHE




